@ _[_e+ S\:w__?_“ 2! Q -+ {{:_ w0 L2
Va j

s T g s

Tl Teve = R

e e w-d

V@ P 22—

- 32°+432 —| i
CTed S e Fw o wsOoaa

(/® G G (V= FR+ 2 Fla)

T e T s ac gaven a2l (. Pwdblw CL2).
I Y ¢ . & L) nwE o,

A
‘}__JN....;,,.._W\_:..__.._..__,____». v e

@ LA Ty woledr £y o0 42
T FA = Ty et

o-

,@ LhEa e sl
5 (S+—3)_C§+3X S
t\uA XY FrK | o *20

. °b\ \"'\Vw’{ “F = °,,‘,J-.7:,_“' *'g'f USH; Yaus:
Sovml

le} T:\t vx/{ -Qh _ o u=o \)1,_“‘ N e ')’V“‘-*&"Cw\«




RV S kI

At

A5 oLy = | 20
At

-

_, o) Fiud E (£)

+ 20 N Mﬁ'gwl' JFIET Lﬂlo ace "’unr-;ww(

) Pl (&) )

20 ; g Ty L“fq | g ce -l-v»—rﬁ)“«!




2.

3

et fa= N2+ 4" n=on23. .- Find FIB) -
Fay= & fa3" = = (n2e s )70
n=2 n=q .
= ;if; n)? « ;i:.gg,a“
- =R n-d oS n
= 312 - nl2) I+ & ¢
= 2 n = n
= 3 %[,{—D(’Zi) 1+  43)
= 2% + i
(- 28 )% V-4t
= 1-22-41% ,
(-43 W1-13)?
F(3) = __1..1_:.‘__. Fnd  fn - nN=0.1.2.3.- - -
-33%e 431
Fla = 23! = 123 . 2, M2
332,430 G-1) (-33) -t -3t :
' ) h—t : 3 L
= }_z-(.+3")1_" = & 3 (143")
g3Y = F)+ 17 F@) .
=0 e +72
= n:-o _,ZL“,,S.-) EANRS :L_::-o -‘,i(na“) 7"
L ne3 1 n
:3 90 = co: ‘ or 3"525“-1‘%3 *%S"* 3
R s
R no 32 - ga= 53" - 2 Umi |23 el
9n = Ea * Fpea = %-')3—; P dor M2 o 3n 5 3 ~ qu‘--
Bekd = Uece) 4 te'® 4 et t2o Fmd F(s)
- - -St
Ftesy = r’ Fctsessde = .j” (u.\t) + t,e*+ FYe T ax
o - .
‘ . : \ (-
y o e = Vi -
' o ey Y s,
Fresy = ‘SQSH\ . Tind Q).
- S+31(9¢3) - .
Ereye Sl aste 1 e
" {Sr2){5+3) I S+1)(5t3) 52 S%3
“at T A o
£(Ey = Uty » 28 S - 668 S(t)




10 fn = T+ Frn = (4" N=234.5 - 3nd f=o0 H=3

(WY

(@ . Find fn M2012, -0 withowt using  Fedransform

1. Find +he homegeneous equation .

The charadtmrisiic equation 8 10 - Td ey = o
«® e Lo L
2
1h)
lon v\
2 fHo= " C;(g) where (. and C, 3 (onstants

2. Find the partecular Solufion =

Guess 7= ¢ (%)" and plug Wi 10fn =Tt fuy =('§)n '
e@ten e ™ ey 3 ce-f
®» :
= o= - %‘ ('%‘)n

3, ™ ;n - gn\h)4. ;"(P\ = C| ("!:)n + C; (:5')“ - ;‘2\' t%)n

CWHh Ikl (onditigns  fo=0 3nd £,= 3

:‘ fo= (o ¢y - -}2- S0
I 15
i = C.a’ + Ca—'s —z=3 . C|~~§ Cz:qq-g

2 The fimslsobchonis  fa= T2 L WS Loy

Wt g -5 -3y

B FRnd f n= o012 - using 7- transform
Lt R( = z:_“ 3"

o . L]
> E(ehm-1masmadt" = & Q)R

D:’l
o (Fye ®-&3) -2 (FRa-R) + TFE) = f;’ —= ko )
l- .
2
F1 (10-73+3*) = 301+ 1% -
Cre- 134+ 3%) e
Flay = _270-893r Y M, /
3(3-3) (5-3) (1-%) 1. L - 3 -3
| "2 5 3




7A a4 feed .
dt?

ta) Find - ey . ¢34

6 Y, R pe) = o t20
a+

, Witheut using Lapla Hamscprm .

VoBng the homogeneous equation

The characheristic equarion i

# leﬁ\ -

N+ore 8 =0 N
= ¢ e-}t + C, e-4f

= -2, -4 .
where  Cy 3 €7 3 wnstants

2. Find the parriunlar equation
{pd
€uess Ly = C and  plug into  original equatton .
?C = | C: L
: 8
P
2 Pwe 2
p) -1t -4t
3 f e M s £ 2 e ¢, 4+ —‘8- for 2 g
L)) Fing £ t>o,

using Laphda transinn .

- ~St
LE'I- F F(s) = f £y @ de
N

o =St ol - St
d? fit) o fte) w) dt = [
[;- [ — * b T + 8 F J ] €

e de
dt Q"
K i‘_%i_(“i‘ & Shersy - s* Frot) - 5 £ (o) - - #M%-)
2 SIE*(s) - S flo) = § o) ¢ @ SRU(s) - 6ff0) + §FYSY = L
s
F*) [s*+65+87 = 7 +L6 o e 196y T4 5 fio0)
Fresy = 1+ SUG68em 4 %) Yo gpio-)
S(S+2V (S+
= &, L, &H
5 S+ Sea
whi Ci= R ftoey, £90) ) ang Cz= K (@) . )
3% 31 constants '
\, - -2t -4
= N W o=z ¢

+ e ¢ 1L

&




